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Date : 04 August,2020                                                                              Day: Tuesday 

                                                                       Exercise # 5.2 

 Web link  https://youtu.be/4T_UIT5zlTE 

Example 1: Write the square root of 900. 
Solution: 
• Find the prime factors of 900. 
Factorization of 900 = 2 × 2 × 3 × 3 × 5 × 5 

• Take square root on both sides. 

√900 =  √2 × 2 × 3 × 3 × 5 × 5 

Write them as a pair of prime factors of a perfect square. 

√900 = √2 × 2 × √3 × 3 × √5 × 5 

√900 = √22 × √32 × √52 

√900 =   2      x    3    x    5 

√900 =    30 

Hence, 30 is the square root of 900. 

1. Find the square roots of the following numbers. 
(i) 4 

 

 

(iii) 36 

 
 
 
 
 
(vii) 49 
 
 
 
 

https://youtu.be/4T_UIT5zlTE
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Learn and Write Table of 9 

9      X      1       =    9  

9      X      2      =    18  

9      X      3      =    27  

9      X      4      =    36  

9      X      5      =    45  

9      X      6      =    54  

9      X      7      =    63  

9      X      8       =    72  

9      X      9       =    81  

9      X      10     =    90  

9      X      11     =    99  

9      X      12     =    108  
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Date : 05 August,2020                                                                        Day: Wednesday 

                                                                       Exercise # 5.2 

 Web link  https://youtu.be/Jp_CqwE0wo0 

Example 1: Write the square root of 900. 
Solution: 
• Find the prime factors of 900. 
Factorization of 900 = 2 × 2 × 3 × 3 × 5 × 5 

• Take square root on both sides. 

√900 =  √2 × 2 × 3 × 3 × 5 × 5 

Write them as a pair of prime factors of a perfect square. 

√900 = √2 × 2 × √3 × 3 × √5 × 5 

√900 = √22 × √32 × √52 

√900 =   2      x    3    x    5 

√900 =    30 

Hence, 30 is the square root of 900. 

2. Find the square roots of the following numbers by primefactorization. 
(i) 144 

 

 

 

 

 

(vi)729 

 

 

 

https://youtu.be/Jp_CqwE0wo0
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Learn and Write Table of 10 

10     X      1       =    10  

10     X      2      =    20  

10     X      3      =    30  

10     X      4      =    40  

10     X      5      =     50  

10     X      6      =     60  

10     X      7      =     70  

10     X      8       =     80  

10     X      9       =    90  

10     X      10     =    100  

10     X      11     =    110  

10     X      12     =    120  
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Date : 06 August,2020                                                                        Day: Thursday 

                                                                       Exercise # 5.2 

 Web link  https://youtu.be/CINLySsacfM 

 

 

 

3.Find the square roots of the followingfractions. 

(i)    
49

81
 

 

 

 

 

(vi)1
13

36
 

 

 

 

https://youtu.be/CINLySsacfM
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Learn and Write Table of 11 

11     X      1       =    11  

11     X      2      =    22  

11     X      3      =    33  

11     X      4      =    44  

11     X      5      =   55  

11     X      6      =   66  

11     X      7      =    77  

11     X      8       =    88  

11     X      9       =    99  

11     X      10     =    110  

11     X      11     =    121  

11     X      12     =    132  
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Date : 07 August,2020                                                                        Day: Friday 

                                                                       Exercise # 5.2 

 Web link  https://youtu.be/w0-nut5Ru9Q 

Example.Prove by prime factorization. 

√9 × 36 = √9 × √36 

Solution : 

√9 × 36 = √9 × √36 

L.H.S                                                  R.H.S 

= √9 × 36                                                                             = √9 × √36 

= √324                                                                                 = √3 × 3 × √6 × 6   

= √18 × 18                                                                          = √32 ×    √62 

= √182                                                                                  =   3    x     6 

= 18                                                                                       =   18 

Hence proved  L.H.S = R.H.S 

4. Prove each of the following by prime factorization. 

(ii)√𝟏𝟒𝟒 × 𝟒 = √𝟏𝟒𝟒 × √𝟒 
 

 

 

 

 

 

 

 

 

 

https://youtu.be/w0-nut5Ru9Q
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Learn and Write Table of 12 

12     X      1       =     12  

12     X      2      =     24  

12     X      3      =     36  

12     X      4      =     48  

12     X      5      =     60  

12     X      6      =     72  

12     X      7      =     84  

12     X      8       =    96  

12     X      9       =    108  

12     X      10     =    120  

12     X      11     =    132  

12     X      12     =    144  
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Date : 08 August,2020                                                                        Day: Saturday 

                                                                        Unit 5 

                                               Review Exercise 

1.Tick (  ) the correct answer. 

i- Which of the following is not a perfect square? 

(a)√16 + 9(b) √25 + 9           (c)√16 ÷ 9   (d) √24 − 9 

ii- If the perimeter of a square shaped garden is 40m then its area is: 

(a) 160𝑚2(b) 400𝑚2  (c)  100𝑚2      (d) 1600𝑚2 

iii-  √24
1 = ______ 

(a) 0.15     (b) 1.5              (c) 10.5    (d) 0.015 

2. Fill in the blanks. 

 

 (i)  4, 9, 16, 25, ... are called ___________. 

 

 (ii)  If If x= 𝑦2, then y is called the ___________ of x. 

 

(iii)  While finding the square root by division method, the 

 

  digits are paired from ___________. 

 

 (iv)  The number whose square root is non-terminiting and 

 

  non-recurring decimal is called the ___________ number. 

(v)        √
121

144
=

√121

√
 

(vi)        
√

√
 = √

169

100
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Date : 10 August,2020                                                                        Day: Monday 

 

 Test 

1. Find the square roots of the following numbers. 

i.   100 

 

 

 

 

 

 

 

2. Find the square roots of the following numbers by prime 
factorization. 

i. 441 
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Date : 11 August,2020                                                                        Day: Tuesday 

                                                                        Unit 5 
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Date : 12 August,2020                                                                        Day: Wednesday 

                                                                       Exercise # 7.1 

 Web link  https://youtu.be/FU2Cc9sz6A4 

 Introduction to Taxes 

 

 

 

 

https://youtu.be/FU2Cc9sz6A4
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Learn and Write Table of 13 

13     X      1       =     13  

13     X      2      =     26  

13     X      3      =     39  

13     X      4      =     52  

13     X      5      =     65  

13     X      6      =     78  

13     X      7      =     91  

13     X      8       =   104  

13    X      9       =    117  

13     X      10     =    130  

13     X      11     =    143  

13     X      12     =    156  
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Date : 13 August,2020                                                                        Day: Thursday 

                                                                       Exercise # 7.1 

 Web link  https://youtu.be/TZXVf7ObeZI 

Example : Find the property tax on a property of Rs.6,200,000 at the rate of 0.8%. 
Solution: 
Worth of the property = Rs.6,200,000 
Tax rate = 0.8% 
Property tax = ? 
Property tax = 0.8% of Rs.6,200,000 

=  8/100 x 6,200,000 

  = Rs.49,600 

 2. Find the property tax on a property of worth Rs.948,000 at therate of 1.5%. 
 

 

 

 

 

 

 

 

6.Find the property tax on a property of  Rs.650,000 at the rate of 1.8% 

 

 

 

 

 

 

 

 

https://youtu.be/TZXVf7ObeZI
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Learn and Write Table of 14 

14     X      1       =     14  

14     X      2      =     28  

14     X      3      =     42  

14     X      4      =     56  

14     X      5      =     70  

14     X      6      =     84  

14     X      7      =     98  

14     X      8       =    112  

14    X      9       =    126  

14    X      10     =    140  

14    X      11     =    154  

14    X      12     =    168  
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Date : 15 August,2020                                                                        Day: Saturday 

                                                                       Exercise # 7.1 

 Web link  https://youtu.be/jutHTYh-umk 

 

 

8.The price of a bicycle is Rs.6,480 inclusive 8% GST.What is the original price of the 

bicycle? 

 

 

 

 

 

 

 

 

https://youtu.be/jutHTYh-umk
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Learn and Write Table of 15 

      15       X      1     =     15  

      15      X      2      =     30  

      15      X      3      =     45  

      15      X      4      =     60  

      15      X      5      =    75  

      15      X      6      =    90  

      15      X      7      =    105  

      15      X      8       =   120  

      15      X      9       =   135  

      15      X      10     =   150  

      15      X      11     =   165  

      15      X      12     =   180  
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Date : 17 August,2020                                                                        Day: Monday 

 

 Test 

 

1. Calculate the amount of property tax of a house at the rate of 2%. The 
value of the house is Rs. 1,450,000. 
 

 

 

 

 

 

 

 

 

2. The price of a toy is Rs.500. Find the sale price of the toy if GST is 16%. 
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Date : 18 August,2020                                                                        Day: Tuesday 

                                                                       Exercise # 7.2 

 Web link   https://youtu.be/-OGdOk3xsm8 

 Introduction to Profit and Markup 

 

 

https://youtu.be/-OGdOk3xsm8
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Learn and Write Table of 16 

16      X      1       =    16  

16      X      2      =    32  

16      X      3      =    48  

16      X      4      =    64  

16      X      5      =    80  

16      X      6      =    96  

16      X      7      =   112  

16      X     8       =   128  

16      X      9       =   144  

16      X      10     =   160  

16      X      11     =   176  

16      X      12     =    192  
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Date : 19 August,2020                                                                        Day: Wednesday 

                                                                       Exercise # 7.2 

 Web link  https://youtu.be/jEGiTfabqJ0 

Example : Imran sold a bicycle for Rs. 3,978 and got 17% profit.Find the cost price of 
the bicycle. 
Solution: 
Sale price (S.P) = Rs.3,978 
% Profit = 17% 
By using formula, 

Cost price (C.P) = 
Sale price

(100% + Profit%)
× 100 

Cost price (C.P) = (
3978

100+17
× 100) 

price (C.P) = (
3978

117
× 100) = Rs. 3,400 

 

3. If 16% profit on a mobile set is Rs.832. Find the cost price of the mobile set. 

 

 

 

 

 

 

 

 

 

 

 

 

https://youtu.be/jEGiTfabqJ0
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Learn and Write Table of 17 

17      X      1       =    17  

17     X      2      =    34  

17     X      3      =    51  

17     X      4      =    68  

17     X      5      =    85  

17     X      6      =   102  

17     X      7      =   119  

17     X      8       =   136  

17     X      9       =   153  

17     X      10     =   170  

17     X      11     =   187  

17     X      12     =   204  
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Date : 20 August,2020                                                                        Day: Thursday 

                                                                       Exercise # 7.2 

 Web link  https://youtu.be/QFK-zIyckIY 

Example : Aleem bought a television for Rs. 15,000 oninstallments at the markup 
rate of 12% per annum. Find the sellingprice of the television if time period is 3 years. 
Solution: 
Cost price (P) = Rs. 15,000 ; Markup rate = 12% per annum 
Time period (T) = 3 years ; Price of the Television = ? 
Using the formula, 
Amount of the markup = RPT / 100 = 12 x 15000 x 3 /100 

                                       = Rs. 5 400 

Price of the television = cost price + markup 
                                        = Rs. 15,000 + Rs. 5,400  

                                        = Rs. 20,400  

8. Khushi bought a computer for Rs. 100,000 and paid a markupof Rs. 25,000 

for 2 years. What markup rate did she pay? 

 

 

 

 

 

 

 

 

 

 

 

https://youtu.be/QFK-zIyckIY
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Learn and Write Table of 18 

18     X      1       =    18  

18    X      2      =    36  

18    X      3      =    54  

18    X      4      =    72  

18    X      5      =    90  

18    X      6      =    108  

18    X      7      =    126  

18    X      8       =    144  

18    X      9       =    162  

18    X      10     =     180  

18    X      11     =     198  

18    X      12     =    216  
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Date : 21 August,2020                                                                        Day: Friday 

                                                                       Exercise # 7.2 

 Web link  https://youtu.be/uBD05GMWnps 

Example : Hatim bought a bike for Rs. 135,000 and sold at 62% 
profit. Find the sale price of the bike. 
Solution: 
Method I 
% profit = 62% 
Cost price = Rs.135,000 
Sale price = ? 
Sale price = (100% + 62%) x 135,000 rupees 
= 162% x 135,000 rupees  

= (
162

100
× 135,000) 

=Rs. 218,700 

4. Zia bought an out of order clock for Rs.750 and got it repaired for Rs.425. 
What should be the selling price of the clock if Zia wants to earn 25% profit? 

 

 

 

 

 

 

https://youtu.be/uBD05GMWnps


Page 27 of 39 
 

Learn and Write Table of 19 

19     X      1       =    19  

19     X      2      =    38  

19     X      3      =    57  

19     X      4      =    76  

19     X      5      =    95  

19     X      6      =    114  

19     X      7      =    133  

19     X      8       =    152  

19     X      9       =    171  

19     X      10     =    190  

19     X      11     =    209  

19     X      12     =    228  
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Date : 22 August,2020                                                                        Day: Saturday 

 

 Test 

 

1. Hatim bought a bike for Rs. 135,000 and sold at 62% profit. Find the sale 
price of the bike. 
 

 

 

 

 

 

 

 

 

2. Find the markup on a principal amount of Rs. 75,500 at the rate of 9% per 
annum for 4 years. 
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Date : 24 August,2020                                                                        Day: Monday 

                                                                       Exercise # 7.3 

 Web link  https://youtu.be/SMmyWOgmBt8 

 Introduction to Zakat and Ushr 

 

 

 

 

 

 

 

 

https://youtu.be/SMmyWOgmBt8
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Learn and Write Table of 20 

20     X      1       =    20  

20     X      2      =     40  

20     X      3      =    60  

20     X      4      =    80  

20     X      5      =    100  

20     X      6      =    120  

20     X      7      =    140  

20     X      8       =   160  

20     X      9       =   180  

20     X      10     =   200  

20     X      11     =   220  

20     X      12     =   240  
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Date : 25 August,2020                                                                        Day: Tuesday 

                                                                       Exercise # 7.3 

 Web link  https://youtu.be/LIoKUAqSkik 

Example : Calculate the amount payable as Zakat by Haleemwho saves Rs.949,000 
for one year. 
Solution: 
Total Saving = Rs.949,000 
Rate of Zakat = 2.5% 
Amount of Zakat = ? 
Amount of Zakat = 2.5% of Rs.949,000 

                             = 2.5/100 x 949000 

                             = Rs. 23,725 

Thus, Haleem will pay Rs.23,725 as Zakat. 

1. An amount of Rs.62,480 remained with Nosheen for a complete year. How 
much Zakat will she pay? 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://youtu.be/LIoKUAqSkik
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Learn and Write Table of 17 

17      X      1       =    17  

17     X      2      =    34  

17     X      3      =    51  

17     X      4      =    68  

17     X      5      =    85  

17     X      6      =   102  

17     X      7      =   119  

17     X      8       =   136  

17     X      9       =   153  

17     X      10     =   170  

17     X      11     =   187  

17     X      12     =   204  
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Date : 26 August,2020                                                                        Day: Wednesday 

                                                                       Exercise # 7.3 

 Web link  https://youtu.be/RCgesP7tsBQ 

Example : Find the wealth of Ibrahim if he paid Rs.7,500 as Zakat. 
Solution: 
2.5% of Ibrahim’s wealth = Rs.7,500 

1 % of Ibrahim     = 𝑅𝑠
7500

2.5
 

100 % of Ibrahim = Rs. 
7500

2.5
× 100  

                                = Rs.300,000 

 

2. Saba paid Rs.2,250 as Zakat. What is the worth of her wealth? 

 

 

 

 

 

 

 

 

 

 

 

 

https://youtu.be/RCgesP7tsBQ
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Learn and Write Table of 18 

18     X      1       =    18  

18    X      2      =    36  

18    X      3      =    54  

18    X      4      =    72  

18    X      5      =    90  

18    X      6      =    108  

18    X      7      =    126  

18    X      8       =    144  

18    X      9       =    162  

18    X      10     =     180  

18    X      11     =     198  

18    X      12     =    216  
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Date : 27 August,2020                                                                        Day: Thursday 

                                                                       Exercise # 7.3 

 Web link  https://youtu.be/IM2SfeuN7PU 

 

Example : A farmer sold his crop of wheat for Rs.995,400. Findthe amount of Ushr 
at the rate of 10%. 
Solution: 
Total Amount = Rs.995,400 
Rate of Ushr = 10% 
Amount of Ushr = ? 
Amount of Ushr = 10% of Rs.995,400 
10/100 x 995400 = Rs. 99,540 
Thus, amount of Ushr is Rs.99,540. 

4. Saleem earned Rs. 114,700 from a rice crop and paid Ushr at the rate of 5%. 
What amount did he pay as Ushr? 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://youtu.be/IM2SfeuN7PU
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Learn and Write Table of 19 

19     X      1       =    19  

19     X      2      =    38  

19     X      3      =    57  

19     X      4      =    76  

19     X      5      =    95  

19     X      6      =    114  

19     X      7      =    133  

19     X      8       =    152  

19     X      9       =    171  

19     X      10     =    190  

19     X      11     =    209  

19     X      12     =    228  
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Date : 28 August,2020                                                                        Day: Friday 

 

 Test 

 

1. Komal saves Rs.96,000 in a year. How much will she pay as Zakat? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. Saleem has 2,400kg wheat. The price of wheat is Rs.30kg. Find the Ushr 
that he will pay. 
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Learn and Write Table of 20 

20     X      1       =    20  

20     X      2      =     40  

20     X      3      =    60  

20     X      4      =    80  

20     X      5      =    100  

20     X      6      =    120  

20     X      7      =    140  

20     X      8       =   160  

20     X      9       =   180  

20     X      10     =   200  

20     X      11     =   220  

20     X      12     =   240  
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Date : 31 August,2020                                                                        Day: Monday 

                                                                            Unit 7 

                                                      Review Exercise 

1.  Tick () the correct answer. 

i- Ushr means : 

(a) one-fourth (b) 0ne-fifth   (c) one-eight        (d) one-tenth 

ii-  The tax which a buyer pays to the saler is called :  

(a) GST          (b) Property tax        (c) Zakat       (d) Ushr 

iii- An amount that we earn after selling a thing is called : 

(a) Tax       (b) Profit          (c) Markup             (d) Ushr 

iv-  Islam has fixed the rate of zakat: 

(a) 2.5%        (b) 5%            (c) 7.5%                  (d) 10% 

v- In case a piece of land watered by artificial means,theUshr will be: 

(a) 2.5%        (b) 4%            (c) 5%                  (d) 10% 

2. Fill in the blanks. 

 

  (i)   The taxwhichis receivedonaproperty is calledthe_____________. 

 

  (ii)   The tax a buyer pays to the seller at the time of buyingthings is called 

_____________. 

 

  (iii)   An amount added to a cost price to calculate the sale price is called a 

____________. 

 

 (iv)   Zakat and Ushr are levied as ordered in the__________ and Sunnah. 

 

 


